

PURCHASING DEPARTMENT 140 Main Street, Room 206 Torrington, CT 06790

Pennie Zucco, Purchasing Agent Phone: (860)-489-2225 Fax (860)-489-2547 Email: pennie_zucco@torringtonct.org

June 1, 2023

Mayor Elinor Carbone
Members of the City Council
Members of the Board of Public Safety

RE: State Contract #22PSX0133 (5) Ford Police Explorers

Fleet Manager Emil Castro presented a request to the Vehicle Replacement Advisory Board to utilize State Contract #22PSX0133 and purchase five (5) Utility Police Explorers. One (1) Explorer for the K-9 unit, \$67,093.32; one (1) Explorer for Patrol replacing unit 3018, \$61,550.16; two (2) Explorers for the Supervisor unit, replacing units 3000 and 3003, \$58,638.18/each; one (1) Explorer for the Detective Division, \$54,916.97 (which replaces unit 3029 that was totaled in a rear-end collision). These purchases would be through MHQ Municipal Vehicles, Middletown, CT from State Contract #22PSX0133 (Ford Police Interceptor Utility Vehicles).

I respectfully recommend that City Council accept the recommendation of both the Vehicle Replacement Advisory Board and Fleet Manager Emil Castro to authorize the Mayor to award the purchase of these vehicles from MHQ of Middletown, CT for \$300,836.81 and to have the Mayor act on the behalf of the City regarding the execution of the contract and its administration pending approval from the Board of Public Safety.

Funding of these vehicles will be from the vehicle replacement account.

Thank you for your consideration on this matter.

Pennie Zucco Purchasing Agent



Contract 22PSX0133

Ford Police Interceptor® Utility Vehicles

State of Connecticut

AND

MHQ, Inc.

Vote on the following purchases for the Police Department from MHQ through State Contract # 22PSX0133. The funding will come out of Vehicle Replacement.

- a. (1) Interceptor K-9-unit quoted price \$68,000
- b. (1) Patrol Interceptor quoted price \$62,000 to replace unit 3018, which will be assigned to other duties.
- c. (2) Supervisor units quoted price \$59,000 each to replace units 3000 and 3003.
- d. (1) Detective Admin SUV quoted price \$55,000 to replace unit 3029 which was totaled in a rearend collision.

Vote on the following purchases for the Traffic Department from MHQ through State Contract # 22PSX0133. The funding will come of Vehicle Replacement.

- **a.** (1) F450 Insulated Bucket Truck with material handling option, quoted price \$120,000.
- **b.** (1) F350 Combination dump and service body with spreader and plow, quoted price \$128,000.



Company/Dept: Torrington Police Dept Date: 3/24/2023 Contact: **Emil Castro** Valid for: *60 Days 107 Arthur Street Street Address: 12957 Customer #: City, State, Zip: Contract: 22PSX0133 Phone: 860-689-3132 Sales Rep: K. Fritsch

E-Mail <u>emil</u> <u>castro@torringtonct.org</u>

K9 SUV

68,000

LINE DESCRIPTION	UNIT PRICE	QTV.	EXTENDED PRICE
2023 Ford Utility Police Interceptor Base (K8A+99B)	¢41.907.00	1	\$41,807.00
			\$0.00 \$0.00
			\$0.00
			\$59.00
			\$49.00
			\$49.00
			\$0.00
			\$25.00
			\$387.00
			\$157.00
			\$49.00
			\$98.00 \$270.00
			\$0.00 \$250.00
			\$463.54
			\$3,576.96 \$2,260.08
			\$2,260.08
			\$60.48 \$607.68
			\$2,600.00
			\$805.20
			\$36.00
			\$332.40
			\$269.40
			\$203.40
			\$48.00
			\$238.51
			\$20.00
			\$20.00
			\$204.96
			\$134.20
		2023 Ford Utility Police Interceptor Base (K8A+ 99B) with 3.3L V6 DI Engine \$41,807.00 Black \$0.00 Front Cloth, Rear Vinyl \$0.00 License Plate Bracket \$0.00 Heated Mirrors \$59.00 Dome Light \$49.00 Global Lock/Unlock feature (Eliminates overhead liftg \$0.00 Dark Car Feature (Chime and Interior lights) \$25.00 Police Engine Idle Feature \$255.00 Driver Only LED Spot Lamp \$387.00 Hidden Door Lock Plunger & Rear Door Handle INOP \$157.00 Keyed Alike - 1284X \$49.00 Noise Suppression Bonds \$98.00 Reverse Sensing \$270.00 Rear View Camera in Rear View Mirror \$0.00 Labor to change Fleet Key - 0576X \$250.00 PUSHBUMPER PB400 \$463.54 HAVIS K9 INSERT - WHITE \$3,576.96 HAVIS K9 WINDOW FAN SYSTEM \$472.32 HAVIS K9 WATER BOWL \$60.48 HAVIS K9 WATER BOWL \$60.48 HAVIS K9 LONG RANGE PAGER \$607.68 Legacy WCX BAR RED/BLU W/TD & ALLEYS \$2,600.00 CENCOM CORE WCX CONTROL CENTER \$805.20 OBDII CANPORT CABLE KIT FORD \$36.00 WeCanx 16 OUTPUT EXPANSION MOD \$166.20 WeCanx 21 BUTTON/SLIDE CTRL HD \$269.40 VEHICLE TO VEHICLE \$211.20 CANTROL LIGHT SENSOR BLACK \$48.00 SA315P SPEAKER, BLACK PLASTIC \$238.51 SA-315 MT KIT EXPLORER DRVR \$20.00 ION BLUE \$102.48 ION RED	2023 Ford Utility Police Interceptor Base (K8A+ 99B) with 3.3L V6 DI Engine Black \$0.00 1 Front Cloth, Rear Vinyl License Plate Bracket \$0.00 1 Heated Mirrors \$59.00 1 Dome Light Global Lock/Unlock feature (Eliminates overhead liftg \$0.00 1 Dark Car Feature (Chime and Interior lights) Police Engine Idle Feature \$255.00 1 Driver Only LED Spot Lamp Hidden Door Lock Plunger & Rear Door Handle INOP Keyed Alike - 1284X Noise Suppression Bonds \$98.00 1 Reverse Sensing \$270.00 1 Rear View Camera in Rear View Mirror Labor to change Fleet Key - 0576X PUSHBUMPER PB400 \$443.54 1 HAVIS K9 INSERT - WHITE \$3,576.96 1 HAVIS K9 WINDOW FAN SYSTEM HAVIS K9 WINDOW FAN SYSTEM HAVIS K9 WATER BOWL HAVIS K9 WATER BOWL Legacy WCX BAR RED/BLU W/TD & ALLEYS CENCOM CORE WCX CONTROL CENTER \$805.20 1 CENCOM CORE WCX CONTROL CENTER \$36.00 1 VEHICLE TO VEHICLE \$211.20 1 CANTROL LIGHT SENSOR BLACK \$48.00 1 SA315 MT KIT EXPLORER DRVR \$20.00 1 ION BLUE \$102.48 2 ION RED

Customer Supplied E				\$67,093.3
			TAX:	
LABOR	INSTALLATION LABOR	\$95.00	55	\$5,225.0
SS	SHOP SUPPLIES	\$125.00		\$125.0
CS	CUSTOMER SUPPLIED EQUIP	\$0.00		\$0.0
LB5Z7802501AA	RETAINER TRIM PIECE	\$43.55	1	\$43.5
LB5Z7803145AA	A PILLAR ASSEMBLY, PILLAR BLACK, LH	\$125.00	1	\$125.0
C6PCS25	CAT CABLE 25'	\$19.98	2	\$39.9
50700075	RELAY 75A 12V BOSCH	\$78.10	1	\$78.2
5026	BLUE SEA 12 FUSE PANEL	\$55.00	2	\$110.0
1310012	CIRCUIT BREAKER 50A	\$33.96	1	\$33.9
VF4	RELAY VF4 30/40A BLUE BOX	\$4.00	1	\$4.0
MHQ0010	EQUIPMENT COVER	\$125.00	1	\$125.0
	ANTENNA PLUS MUTI BAND MIMO CELLULAR/PCS	\$160.00	1	\$160.0
NMOKUD20	ANTENNA CABLE 20' W/MINI UHF	\$22.80	2	\$45.6
CMCB	MIC CLIP BRACKET	\$9.78	2	\$19.5
MMSU1	MAGNETIC MIC	\$31.46	2	\$62.9
CGX	CHARGEGUARD-SELECT	\$77.04	1	\$77.0
LOFTAOKEYOVER	Auto Opening LOFT Optional Key Override System	\$111.60	1	\$111.6
LOFTPIU202GAO	Loft Dual Weapon Storage Tray w/ Auto Open	\$1,057.50	1	\$1,057.5
CFP05	HAVIS FILLER PLATE 0.5"	\$9.36	2	\$18.7
CAP03251	HAVIS POCKET	\$36.72	1	\$36.7
CEB50WSB1P	HAVIS BRACKET FOR ARGES	\$23.76	1	\$23.7
CEB50CSP1P	HAVIS EQUIP FOR CANTROL	\$22.79	1	\$22.7
CEB20112	HAVIS EQUIP FOR KENWOOD NX700	\$23.76	1	\$23.7
CLP2USBBL2	PANEL WITH USB AND 12V DC PLUG	\$112.32	1	\$112.3
CUP21001	INTERNAL CUP HOLDER	\$48.24	1	\$48.2
CARM108	ARMREST SIDE MOUNT FLIP UP	\$179.28	1	\$179.2
CVS1508INUT	VEHICLE SPEC ANGLED CONSOLE	\$369.68	1	\$369.6
PA15803207	POWER ADAPTER PANASONIC TOUGHBOOK	\$125.96	1	\$125.9
TM5126APPIU20	HINT ON-DASH MOUNT W/ SINGLE	\$607.50	1	\$607.5
AP5120VESA75	ADAPTOR PLATE FOR VESA 75 MM TM-5120 SER	\$49.50	1	\$49.5
CPM118	Eticket Mounting Bracket	\$76.32	1	\$76.3
ARG50D	DRVR FENDER MT INTERCEPTOR SUV	\$65.40	1	\$65.4
ARGES1	ARGES 5 DEG REMOTE SPOTLIGHT	\$449.40	1	\$449.4
50CREGCS	12V WHT/RED 6" COMPARTMENT LT	\$148.84	1	\$148.8
LINV2R	LINZ V-SERIES LIGHT RED	\$171.41	1	\$171.4
LINV2B	LINZ V-SERIES LIGHT BLUE	\$171.41	1	\$171.4
LSVBKT50	LINSV MIRROR MT KIT 20 UTILITY	\$20.13	1	\$20.1
MBIONB	ION™ SOLO™ Lighthead FOR MIRROR BEAM	\$0.00	1	\$0.0
MBIONR	ION™ SOLO™ Lighthead FOR MIRROR BEAM	\$0.00	1	\$0.0
MBFX20	ION MIRROR-BEAM HSGS UTILITY	\$286.70	1	\$286.7
/TX609C	VERTEX SUPER-LED WHITE	\$81.60	2	\$163.2
/TX609R	VERTEX SUPER-LED RED	\$81.60	2	\$163.2
rlmir	MINI ION T-SERIES LT RED	\$89.40	1	\$89.4
LMIB	MINI ION T-SERIES LT BLUE	\$89.40	1	\$89.40
ONK1B	ION SWIVEL BRACKET	\$25.20	2	\$50.4



Company/Dept: Contact:

Torrington Police Dept Emil Castro

3/24/2023 Date: Valid for: *60 Days

Street Address: City, State, Zip:

107 Arthur Street

12957 Customer #: 22PSX0133 Contract: K. Fritsch

Sales Rep:

Phone:

E-Mail

860-689-3132 emil castro@torringtonct.org

62000 PATROL SUV

ITEM NUMBER	LINE DESCRIPTION	UNIT PRICE	QTY.	extended Price
200	2023 Ford Utility Police Interceptor Base (K8A+ 99B)	\$41,807.00	1	\$41,807.00
K8A	with 3.3L V6 DI Engine	\$0.00	1	\$0.00
UM	Black	\$0.00	1	\$0.00
9W	Front Cloth, Rear Vinyl	\$0.00	1	\$0.00
153	License Plate Bracket			\$59.00
549	Heated Mirrors	\$59.00	11	\$49.00
17T	Dome Light	\$49.00	11	
18D	Global Lock/Unlock feature (Eliminates overhead liftg	\$0.00	1	\$0.00
43D	Dark Car Feature (Chime and Interior lights)	\$25.00	1	\$25.00
47A	Police Engine Idle Feature	\$255.00	1	\$255.00
51R	Driver Only LED Spot Lamp	\$387.00	1	\$387.00
52P	Hidden Door Lock Plunger & Rear Door Handle INOP	\$157.00	1	\$157.00
59B	Keyed Alike - 1284X	\$49.00	1	\$49.00
60R	Noise Suppression Bonds	\$98.00	1	\$98.00
76R	Reverse Sensing	\$270.00	1	\$270.00
87R	Rear View Camera in Rear View Mirror	\$0.00	1	\$0.00
LABOR	Labor to change Fleet Key - 0576X	\$250.00	1	\$250.00
BK0534ITU20	PUSHBUMPER PB400	\$463.54	1	\$463.54
P1000UINT20A-S	Single Compartment, Pro-Cell, ½ Partition, Wire Barrier	\$2,859.36	1	\$2,859.36
EB2DEDE	Legacy WCX BAR RED/BLU W/TD & ALLEYS	\$2,600.00	1	\$2,600.00
C399	CENCOM CORE WCX CONTROL CENTER	\$805.20	1	\$805.20
C399K4	OBDII CANPORT CABLE KIT FORD	\$36.00	1	\$36.00
CEM16	WeCanX 16 OUTPUT EXPANSION MOD	\$166.20	2	\$332.40
CCTL7	WeCanX 21 BUTTON/SLIDE CTRL HD	\$269.40	1	\$269.40
CV2V	VEHICLE TO VEHICLE	\$211.20	1	\$211.20
CANLITEB	CANTROL LIGHT SENSOR BLACK	\$48.00		\$48.00
SA315P	SA315P SPEAKER, BLACK PLASTIC	\$238.51	_	\$238.51
SAK66D	SA-315 MT KIT EXPLORER DRVR	\$20.00	_	\$20.00
	ION BLUE	\$102.48		\$204.96
IONB	ION RED	\$102.48	_	\$204.96
IONR	SPITFIRE ION LED RED DASH DECK LIGH	\$134.20		\$134.20
SFIONR	SPITFIRE ION LED BLUE DASH DECK LIGH	\$134.20		\$134.20
SFIONB	ION SWIVEL BRACKET	\$25.20	_	\$50.40
IONK1B TLMIB	MINI ION T-SERIES LT BLUE	\$89.40		\$89.40

			TOTAL:	\$61,550.1
			TAX:	
			711	
LABOR	INSTALLATION LABOR	\$95.00	40	\$3,800.0
SS	SHOP SUPPLIES	\$125.00	1	\$125.0
cs	CUSTOMER SUPPLIED EQUIP	\$0.00	1	\$0.0
LB5Z7802501AA	RETAINER TRIM PIECE	\$43.55	1	\$43.5
LB5Z7803145AA	A PILLAR ASSEMBLY, PILLAR BLACK, LH	\$125.00	1	\$125.0
C6PCS25	CAT CABLE 25'	\$19.98	2	\$39.9
50700075	RELAY 75A 12V BOSCH	\$78.10	1	\$78.10
5026	BLUE SEA 12 FUSE PANEL	\$55.00	2	\$110.00
1310012	CIRCUIT BREAKER 50A	\$33.96	1	\$33.9
VF4	RELAY VF4 30/40A BLUE BOX	\$4.00	1	\$4.0
MHQ0010	EQUIPMENT COVER	\$125.00	1	\$125.0
	ANTENNA PLUS MUTI BAND MIMO CELLULAR/PCS	\$160.00	1	\$160.00
NMOKUD20	ANTENNA CABLE 20' W/MINI UHF	\$22.80	2	\$45.60
СМСВ	MIC CLIP BRACKET	\$9.78	2	\$19.50
MMSU1	MAGNETIC MIC	\$31.46	2	\$62.92
CGX	CHARGEGUARD-SELECT	\$77.04	1	\$77.04
LOFTAOKEYOVER	Auto Opening LOFT Optional Key Override System	\$111.60	1	\$111.60
LOFTPIU202GAO	Loft Dual Weapon Storage Tray w/ Auto Open	\$1,057.50	1	\$1,057.50
CFP05	HAVIS FILLER PLATE 0.5"	\$9.36	2	\$18.72
CAP03251	HAVIS POCKET	\$36.72	1	\$36.72
CEB50WSB1P	HAVIS BRACKET FOR ARGES	\$23.76	1	\$23.76
CEB50CSP1P	HAVIS EQUIP FOR CANTROL	\$22.79	1	\$22.79
CEB20112	HAVIS EQUIP FOR KENWOOD NX700	\$23.76	1	\$23.76
CLP2USBBL2	PANEL WITH USB AND 12V DC PLUG	\$112.32	1	\$112.32
CUP21001	INTERNAL CUP HOLDER	\$48.24	1	\$48.24
CARM108	ARMREST SIDE MOUNT FLIP UP	\$179.28	1	\$179.28
CVS1508INUT	VEHICLE SPEC ANGLED CONSOLE	\$369.68	1	\$369.68
PA15803207	POWER ADAPTER PANASONIC TOUGHBOOK	\$125.96	1	\$125.96
TM5126APPIU20	HINT ON-DASH MOUNT W/ SINGLE	\$607.50	1	\$607.50
AP5120VESA75	ADAPTOR PLATE FOR VESA 75 MM TM-5120 SER	\$49.50	1	\$49.50
CPM118	Eticket Mounting Bracket	\$76.32	1	\$76.32
ARG50D	DRVR FENDER MT INTERCEPTOR SUV	\$65.40	1	\$65.40
ARGES1	ARGES 5 DEG REMOTE SPOTLIGHT	\$449.40	1	\$449.40
LINV2R 60CREGCS	12V WHT/RED 6" COMPARTMENT LT	\$171.41	1	\$171.41
	LINZ V-SERIES LIGHT RED	\$171.41	1	\$171.41
LSVBKT50 LINV2B	LINZ V-SERIES LIGHT BLUE	\$171.41	1	\$20.13
	LINSV MIRROR MT KIT 20 UTILITY	\$20.13	1	\$20.13
MBIONR MBIONB	ION™ SOLO™ Lighthead FOR MIRROR BEAM	\$0.00	1	\$0.00
MBFX20	ION™ SOLO™ Lighthead FOR MIRROR BEAM	\$286.70	1	\$286.70 \$0.00
VTX609C	ION MIRROR-BEAM HSGS UTILITY	\$81.60 \$286.70		
/TX609R	VERTEX SUPER-LED WHITE	\$81.60	2	\$163.20
	MINI ION T-SERIES LT RED VERTEX SUPER-LED RED	\$89.40	2	\$89.40 \$163.20

2023 Patrol Quote_3.24.23 Page 2 of 4



Company/Dept:

Torrington Police Dept Emil Castro

3/24/2023 Date: Valid for:

Contact: Street Address:

107 Arthur Street

*60 Days 12957

City, State, Zip: Phone:

860-689-3132

Customer #: Contract: 22PSX0133 Sales Rep: K. Fritsch

E-Mail

emil castro@torringtonct.org

59,000 x2 Supervisor SUV

ITEM NUMBER	LINE DESCRIPTION	UNIT PRICE	QTY.	EXTENDED PRICE
	2023 Ford Utility Police Interceptor Base (K8A+ 99B)			
K8A	with 3.3L V6 DI Engine	\$41,807.00	1	\$41,807.00
UM	Black	\$0.00	1	\$0.00
9W	Front Cloth, Rear Vinyl	\$0.00	1	\$0.00
153	License Plate Bracket	\$0.00	1	\$0.00
549	Heated Mirrors	\$59.00	1	\$59.00
17T	Dome Light	\$49.00	1	\$49.00
18D	Global Lock/Unlock feature (Eliminates overhead liftg	\$0.00	1	\$0.00
43D	Dark Car Feature (Chime and Interior lights)	\$25.00	1	\$25.00
47A	Police Engine Idle Feature	\$255.00	1	\$255.00
51R	Driver Only LED Spot Lamp	\$387.00	1	\$387.00
52P	Hidden Door Lock Plunger & Rear Door Handle INOP	\$157.00	1	\$157.00
59B	Keyed Alike - 1284X	\$49.00	1	\$49.00
60R	Noise Suppression Bonds	\$98.00	1	\$98.00
76R	Reverse Sensing	\$270.00	1	\$270.00
87R	Rear View Camera in Rear View Mirror	\$0.00	1	\$0.00
LABOR	Labor to change Fleet Key - 0576X	\$250.00	1	\$250.00
BK0534ITU20	PUSHBUMPER PB400	\$463.54	1	\$463.54
BSFW50Z	FRONT INNER EDGE, R/W/B	\$1,162.05	1	\$1,162.05
BS50ZRBA	REAR INNER EDGE R/A/B	\$1,245.01	1	\$1,245.01
C399	CENCOM CORE WCX CONTROL CENTER	\$805.20	1	\$805.20
C399K4	OBDII CANPORT CABLE KIT FORD	\$36.00	1	\$36.00
CEM16	WeCanX 16 OUTPUT EXPANSION MOD	\$166.20	2	\$332.40
CCTL7	WeCanX 21 BUTTON/SLIDE CTRL HD	\$269.40	1	\$269.40
CV2V	VEHICLE TO VEHICLE	\$211.20	1	\$211.20
CANLITEB	CANTROL LIGHT SENSOR BLACK	\$48.00	1	\$48.00
SA315P	SA315P SPEAKER, BLACK PLASTIC	\$238.51	1	\$238.51
SAK66D	SA-315 MT KIT EXPLORER DRVR	\$20.00	1	\$20.00
IONB	ION BLUE	\$102.48	2	\$204.96
IONR	ION RED	\$102.48		\$204.96
IONK1B	ION SWIVEL BRACKET	\$25.20	2	\$50.40
TLMIB	MINI ION T-SERIES LT BLUE	\$89.40	1	\$89.40
TLMIR	MINI ION T-SERIES LT RED	\$89.40	1	\$89.40
VTX609R	VERTEX SUPER-LED RED	\$81.60		\$163.20
VTX609C	VERTEX SUPER-LED WHITE	\$81.60	<u>√</u> 2	\$163.20

C6PCS25 C LB5Z7803145AA A LB5Z7802501AA F CS C SS S	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A BLUE SEA 12 FUSE PANEL RELAY 75A 12V BOSCH CAT CABLE 25' A PILLAR ASSEMBLY, PILLAR BLACK, LH RETAINER TRIM PIECE CUSTOMER SUPPLIED EQUIP SHOP SUPPLIES INSTALLATION LABOR	\$4.00 \$33.96 \$55.00 \$78.10 \$19.98 \$125.00 \$43.55 \$0.00 \$125.00 \$95.00	1 1 2 1 2 1 1 1 1 1 35 TAX:	\$4.00 \$33.96 \$110.00 \$78.10 \$39.96 \$125.00 \$43.55 \$0.00 \$125.00 \$3,325.00
C6PCS25 C LB5Z7803145AA A LB5Z7802501AA F CS C SS S	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A BLUE SEA 12 FUSE PANEL RELAY 75A 12V BOSCH CAT CABLE 25' A PILLAR ASSEMBLY, PILLAR BLACK, LH RETAINER TRIM PIECE CUSTOMER SUPPLIED EQUIP SHOP SUPPLIES	\$4.00 \$33.96 \$55.00 \$78.10 \$19.98 \$125.00 \$43.55 \$0.00 \$125.00	1 1 2 1 2 1 1 1 1 35	\$33.96 \$110.00 \$78.10 \$39.96 \$125.00 \$43.55 \$0.00 \$125.00
C6PCS25 C LB5Z7803145AA A LB5Z7802501AA F CS C SS S	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A BLUE SEA 12 FUSE PANEL RELAY 75A 12V BOSCH CAT CABLE 25' A PILLAR ASSEMBLY, PILLAR BLACK, LH RETAINER TRIM PIECE CUSTOMER SUPPLIED EQUIP SHOP SUPPLIES	\$4.00 \$33.96 \$55.00 \$78.10 \$19.98 \$125.00 \$43.55 \$0.00 \$125.00	1 1 2 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$33.96 \$110.00 \$78.10 \$39.96 \$125.00 \$43.55 \$0.00 \$125.00
C6PCS25 C LB5Z7803145AA A LB5Z7802501AA F CS C SS S	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A BLUE SEA 12 FUSE PANEL RELAY 75A 12V BOSCH CAT CABLE 25' A PILLAR ASSEMBLY, PILLAR BLACK, LH RETAINER TRIM PIECE CUSTOMER SUPPLIED EQUIP SHOP SUPPLIES	\$4.00 \$33.96 \$55.00 \$78.10 \$19.98 \$125.00 \$43.55 \$0.00 \$125.00	1 1 2 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$33.96 \$110.00 \$78.10 \$39.96 \$125.00 \$43.55 \$0.00 \$125.00
C6PCS25 C LB5Z7803145AA A LB5Z7802501AA F CS C SS S	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A BLUE SEA 12 FUSE PANEL RELAY 75A 12V BOSCH CAT CABLE 25' A PILLAR ASSEMBLY, PILLAR BLACK, LH RETAINER TRIM PIECE CUSTOMER SUPPLIED EQUIP SHOP SUPPLIES	\$4.00 \$33.96 \$55.00 \$78.10 \$19.98 \$125.00 \$43.55 \$0.00 \$125.00	1 1 2 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$33.96 \$110.00 \$78.10 \$39.96 \$125.00 \$43.55 \$0.00 \$125.00
C6PCS25 C LB5Z7803145AA A LB5Z7802501AA F CS C	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A BLUE SEA 12 FUSE PANEL RELAY 75A 12V BOSCH CAT CABLE 25' A PILLAR ASSEMBLY, PILLAR BLACK, LH RETAINER TRIM PIECE CUSTOMER SUPPLIED EQUIP	\$4.00 \$33.96 \$55.00 \$78.10 \$19.98 \$125.00 \$43.55 \$0.00	1 1 2 1 2 1 1 1	\$33.96 \$110.00 \$78.10 \$39.96 \$125.00 \$43.55 \$0.00
C6PCS25 C LB5Z7803145AA A LB5Z7802501AA F	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A BLUE SEA 12 FUSE PANEL RELAY 75A 12V BOSCH CAT CABLE 25' A PILLAR ASSEMBLY, PILLAR BLACK, LH RETAINER TRIM PIECE	\$4.00 \$33.96 \$55.00 \$78.10 \$19.98 \$125.00 \$43.55	1 1 2 1 2 1 1	\$33.96 \$110.00 \$78.10 \$39.96 \$125.00 \$43.55
C6PCS25 C LB5Z7803145AA A	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A BLUE SEA 12 FUSE PANEL RELAY 75A 12V BOSCH CAT CABLE 25' A PILLAR ASSEMBLY, PILLAR BLACK, LH	\$4.00 \$33.96 \$55.00 \$78.10 \$19.98 \$125.00	1 1 2 1 2 1	\$33.96 \$110.00 \$78.10 \$39.96 \$125.00
C6PCS25	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A BLUE SEA 12 FUSE PANEL RELAY 75A 12V BOSCH CAT CABLE 25'	\$4.00 \$33.96 \$55.00 \$78.10 \$19.98	1 1 2 1 2	\$33.96 \$110.00 \$78.10 \$39.96
	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A BLUE SEA 12 FUSE PANEL RELAY 75A 12V BOSCH	\$4.00 \$33.96 \$55.00 \$78.10	1 1 2 1	\$33.96 \$110.00 \$78.10
C070007E	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A BLUE SEA 12 FUSE PANEL	\$4.00 \$33.96 \$55.00	1 1 2	\$33.96 \$110.00
	RELAY VF4 30/40A BLUE BOX CIRCUIT BREAKER 50A	\$4.00 \$33.96	1 1	\$33.96
	RELAY VF4 30/40A BLUE BOX	\$4.00	1	
				A
	VIOUNI NII FOR EQUIPIVIENI BUX		1	\$339.12
	MOUNT KIT FOR EQUIPMENT BOX	\$669.60 \$339.12	1	\$669.60
	EQUIPMENT BOX	\$160.00	1	\$160.00
	ANTENNA CABLE 20 W/MINI UHF ANTENNA PLUS MUTI BAND MIMO CELLULAR/PCS	\$22.80	2	\$45.60
	NIC CLIP BRACKET ANTENNA CABLE 20' W/MINI UHF	\$9.78	2	\$19.56
	WIC CLIP BRACKET	\$31.46	2	\$62.92
	MAGNETIC MIC	\$77.04	1	\$77.04
	CHARGEGUARD-SELECT	\$111.60	1	\$111.60
	Auto Opening LOFT Optional Key Override System	\$1,057.50	1	\$1,057.50
	oft Dual Weapon Storage Tray w/ Auto Open	\$9.36	2	\$18.72
	HAVIS POCKET HAVIS FILLER PLATE 0.5"	\$36.72	1	\$36.72
		\$23.76	1	\$23.76
	HAVIS EQUIP FOR CANTROL HAVIS BRACKET FOR ARGES	\$22.79	1	\$22.79
	HAVIS EQUIP FOR KENWOOD NX700	\$23.76	1	\$23.76
	PANEL WITH USB AND 12V DC PLUG	\$112.32	1	\$112.32
		\$48.24	1	\$48.24
	ARMREST SIDE MOUNT FLIP UP NTERNAL CUP HOLDER	\$179.28	1	\$179.28
	/EHICLE SPEC ANGLED CONSOLE	\$369.68	1	\$369.68
	POWER ADAPTER PANASONIC TOUGHBOOK	\$125.96	1	\$125.96
	HINT ON-DASH MOUNT W/ SINGLE	\$607.50	1	\$607.50
	ADAPTOR PLATE FOR VESA 75 MM TM-5120 SER	\$49.50	1	\$49.50
	Eticket Mounting Bracket	\$76.32	1	\$76.32
	DRVR FENDER MT INTERCEPTOR SUV	\$65.40	1	\$65.40
	ARGES 5 DEG REMOTE SPOTLIGHT	\$449.40	1	\$449.40
	2V WHT/RED 6" COMPARTMENT LT	\$148.84	1	\$148.84
	INZ V-SERIES LIGHT RED	\$171.41	1	\$171.41
	INZ V-SERIES LIGHT BLUE	\$171.41	1	\$171.41
	INSV MIRROR MT KIT 20 UTILITY	\$20.13	1	\$20.13
	ON™ SOLO™ Lighthead FOR MIRROR BEAM	\$0.00	1	\$0.00
	ON™ SOLO™ Lighthead FOR MIRROR BEAM	\$0.00	1	\$0.00
	ON MIRROR-BEAM HSGS UTILITY	\$286.70	1	\$286.70

Axon Camera System

Radio

E-Ticket

Computer dock/Modem



Company/Dept:

Torrington Police Dept **Emil Castro**

. Date:

3/24/2023 *60 Days

Contact: Street Address:

107 Arthur Street

Valid for: Customer #:

12957

City, State, Zip: Phone:

860-689-3132

Contract: Sales Rep: 22PSX0133 K. Fritsch

E-Mail

emil castro@torringtonct.org

Detective Admin SUV

ITEM NUMBER	LINE DESCRIPTION	UNIT PRICE	QTY.	EXTENDED PRICE
K8A	2023 Ford Utility Police Interceptor Base (K8A+ 99B) with 3.3L V6 DI Engine	\$41,807.00	1	\$41,807.00
UM	Black	\$0.00	1	\$0.00
F6	Front Cloth, Rear Cloth	\$0.00	1	\$0.00
153	License Plate Bracket	\$0.00	1	\$0.00
549	Heated Mirrors	\$59.00	1	\$59.00
16D	Badge Delete	\$0.00	1	\$0.00
17T	Dome Light	\$49.00	1	\$49.00
18D	Global Lock/Unlock feature (Eliminates overhead liftg	\$0.00	1	\$0.00
21L	Front Warning Lights	\$529.00	1	\$529.00
43D	Dark Car Feature (Chime and Interior lights)	\$25.00	1	\$25.00
47A	Police Engine Idle Feature	\$255.00	1	\$255.00
55F	Remote Key Fobs	\$333.00	1	\$333.00
60R	Noise Suppression Bonds	\$98.00	1	\$98.00
63V	Cargo Storage Vault	\$240.00	1	\$240.00
65U	Admin Package	\$382.00	1	\$382.00
76R	Reverse Sensing	\$270.00	1	\$270.00
87R	Rear View Camera in Rear View Mirror	\$0.00	1	\$0.00
BSFW50Z	FRONT INNER EDGE, R/W/B	\$1,162.05	1	\$1,162.05
BS50ZRBA	REAR INNER EDGE R/A/B	\$1,245.01	1	\$1,245.01
C399	CENCOM CORE WCX CONTROL CENTER	\$805.20	1	\$805.20
C399K4	OBDII CANPORT CABLE KIT FORD	\$36.00	1	\$36.00
CEM16	WeCanX 16 OUTPUT EXPANSION MOD	\$166.20	1	\$166.20
CCTL5	WeCanX HAND HELD CONTROLLER	\$269.40	1	\$269.40
CV2V	VEHICLE TO VEHICLE	\$211.20	1	\$211.20
CANLITEB	CANTROL LIGHT SENSOR BLACK	\$48.00	1	\$48.00
SA315P	SA315P SPEAKER, BLACK PLASTIC	\$238.51	1	\$238.51
SAK66D	SA-315 MT KIT EXPLORER DRVR	\$20.00	1	\$20.00
IONB	ION BLUE	\$102.48	1	\$102.48
IONR	ION RED	\$102.48	1	\$102.48
MCRNTB	STUD MOUNT MICRON BLUE	\$92.72	1	\$92.72
MCRNTR	STUD MOUNT MICRON RED	\$92.72	1	\$92.72
TLMIB	MINI ION T-SERIES LT BLUE	\$89.40	1	\$89.40
TLMIR	MINI ION T-SERIES LT RED	\$89.40	1	\$89.40
VTX609R	VERTEX SUPER-LED RED	\$81.60	2	\$163.20

VTX609C	VERTEX SUPER-LED WHITE	\$81.60	2	\$163.20
60CREGCS	12V WHT/RED 6" COMPARTMENT LT	\$148.84	1	\$148.84
LOFTPIU202GAO	Loft Dual Weapon Storage Tray w/ Auto Open	\$1,057.50	1	\$1,057.50
LOFTAOKEYOVER	Auto Opening LOFT Optional Key Override System	\$111.60	1	\$111.60
CGX	CHARGEGUARD-SELECT	\$77.04	1	\$77.04
MMSU1	MAGNETIC MIC	\$31.46	2	\$62.92
СМСВ	MIC CLIP BRACKET	\$9.78	2	\$19.56
NMOKUD20	ANTENNA CABLE 20' W/MINI UHF	\$22.80	2	\$45.60
CSBX101	EQUIPMENT BOX	\$669.60	1	\$669.60
CSBX101KIT5	MOUNT KIT FOR EQUIPMENT BOX	\$339.12	1	\$339.12
VF4	RELAY VF4 30/40A BLUE BOX	\$4.00	1	\$4.00
1310012	CIRCUIT BREAKER 50A	\$33.96	1	\$33.96
5026	BLUE SEA 12 FUSE PANEL	\$55.00	2	\$110.00
50700075	RELAY 75A 12V BOSCH	\$78.10	1	\$78.10
C6PCS25	CAT CABLE 25'	\$19.98	2	\$39.96
cs	CUSTOMER SUPPLIED EQUIP	\$0.00	1	\$0.00
SS	SHOP SUPPLIES	\$125.00	1	\$125.00
LABOR	INSTALLATION LABOR	\$95.00	30	\$2,850.00
			TAX:	

TOTAL:

\$54,916.97

Customer Supplied Equipment:

Axon Camera System Radio

TERMS AND CONDITIONS

Deferrals and Cancellations of Sales Orders

In all cases where vehicles, products, and labor are purchased against government and public contracts, the terms and conditions of that contract shall prevail and bind MHQ. In cases where contract terms on deferral and/or cancellation are not defined, and for non-contract sales, the following MHQ policy shall prevail.

~ -